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Answer the following questions:

1. Choose to answer (a) or (b):
Write down the scientific concept that is
expressed by:

(a) The change of concentration of reactants or

products per unit time.

(b) The product of the concentration of ions,
for any sparingly soluble ionic compound
raised to the power of the number of moles
of ions that exist in equilibrium with its

saturated solution.
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2. Choose to answer (a) or (b):

Show by equations one of the two following

reactions:
(a) The reaction of magnetite with
concentrated Sulphuric acid.
(b)Heating of iron (1) sulphate.

(@) (1) os LY a3 22
1 Oale W Aaf caleally g
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RS SN REEIPEN]
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3. Choose to answer (a) or (b):
Using the reagent of the group , show by

equations how to detect one of the folowinf

ions:
(a) Bromide ion
(b) Sulphate ion.
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4. State one use of Ethylene glycol. @S pal Jaa) g Laladi) S -4
Jesala ol
5. Choose the correct answer: s daaall 4y s 5

P TNT S el LSl ansY)
CR R 5 SO e (]
Crslsh 5 i S5 6,42«
i 9 i SN 6,42 Jie [\

Ol 5 i S8

The chemical name of the compound TNT
IS:

a , Trimethyl nitrobenzene

b, 2,4,6 trinitrotoluene

c ) 1, methyl 2,4,6 tri nitrobenzene

d ) Trinitro toluene

6. The following are the electric potential of | :Uadyl L 3¢ chial L Lad -6
some electrodes:
Zn%* [ Zn° [-0.762 Volt] Zn?*/ Zn® [-0.762 Volt]
Mg? | Mg® [2.375 Volt ] Mg? | Mg® [2.375 Volt ]
2CI1 / Cl, [-1.36 Volt] 2CI1 / Cl, [-1.36 Volt]
KL | KO [-2.924 Volt ] K/ KO [-2.924 Volt]
First: Write the diagram of the electric cell Al aaY) el i)Y
that contains two of these electrodes and Lagia b e (5 giad il dlalal)
produces the highest electromotive force. . T i
Second: calculate the value of the AeS Aadh 4 el i s
electromotive force, and define the direction | % el A8l & il ad il LG
of the electric current. - eSOl Gl e olatl 2aa
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7. Xand are two salts of different radicals,
each of them gives CO; gas on reacting with
diluted hydrochloric acid.

First: Name the two radicals.

Second: How can you distinguish practically
between them

Omaea il Y 5 X olake -7
e s Legia JS ¢ puilig
G-V EN CAJDM‘JJCCOQ

;i) el IS al) ;

¢ Rl aul La oY

Legin Lilae Haad CaS SO Ll

8. Write down the ITUPAC name for the
common name of the following chemical
compounds :

First: Halothane.
Second: Picric acid.

JUPAC  oUail Lo 40041

OGSl oYl
Sl Sl paes LG

9. Show by chemical equations:
Preparation of Marookh oil from salicylic acid.

A isassl dldaally i -9
e Ga g all Cyy ppma
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10.

Choose the correct answer:

The chemical reaction below takes place in
a closed container :

SOz + Y202¢9 = SO3 (@  AH <0

The value of Kp increases by ---

increasing the concentration of reactants

d

b ) increasing the container volume
raising temperature

d ) lowering temperature

D dagauall ) il -10
i sl 8 ) Jelidl

SOz + 2 Oz = SO3 (g)
AH<O0

e JEUE 3 K dagd 235
SOlelaiall 38 53 8al ) i

<Y paa 3L (o
FENEESHREIN

BJ‘J;J\:\;JJL)A'A K]

11.

Choose the correct answer:
The reaction between benzene and chlorine
in direct sunlight and presence of a catalyst
produces :

3 hexachloro cyclohexane

p ) Chlorobenzene

hexachloro benzene

(@]

d ) hexachloro hexene

D daasal) L) i -11
(B oS g () Joli die
i s Jale 9299 puaddl 5 i

A JlSa 58 a7

(R JJ)E [

(R }JJE (;“"M -
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Give reasons :-
Detection of basic radical is more
complicated than acidic radical.
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13. Conclude the name of the following salt
and write its chemical formula (without
writing the chemical equation):

On adding magnesium sulphate to the salt
solution, a white ppt. is formed on heating.
And if a sample of this salt is put in a
benzene flame, a brick red color appears.

ABua g Y plal) sl milial -13
Uslaal) 4L ¢ 54) Agilrasst)
D (Al
Al HS Jglae bl 2ie
O5Sh el slae A o e L)
Sie 5 Opdadll) 22 lanl )
Al o mldl o JilE (i o
b eal sl sl

14 Choose to answer (a) or (b):

(a) Show by chemical equations how to
obtain sodium eythoxide from
acetylene

(b) Show by chemical equations how to
obtain insecticide from Acetylene

(@) (1) s Aoy pisaag

OSay @S Aila Sl C¥ sl ma s (I
YY)

Sy S AlaeSl OYalaall s (2
i) (e (5 pda e e Jgeanl)

15. Choose the correct answer:
The IUPAC name

CHs C2Hs
of the given

compound
3- methyl -1- ethyl cyclopentane
b 1- ethyl -3-methyl cyclopentane
2- c yl -4- methyl cyclopentane

d 1- methyl -4- ethyl cyclopentane

s dagaall Yl s 15
ATy ) S pall (LeasS) pcy)
e SR gl

Gl i diiy) -1- Jw— 3 (]
Sl ol e -3- diy — 1 (<
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16 Examine the following compound then aa o M) QS pall gl -16
determine which of the functional group that | : ™ 4Bl cle sanal) ]

. | dallee dic Ul g8 Gaaas Y o
First: Causes effervescences when the S oal) Anlla e ,”'5 . g
.e}:m}.al\ Q\J}JJS.L&‘\L.\.&\)J

compound reacts with sodium bicarbonate Jelis 13) il 558 Li€ay Ll
Second: Forms ester when the compound reacts L Y Gaea ge Sl
with Ethanoic acid.
COOCH
i
on” 0-C-CH,-NH,

17. Write down the chemical name of the J Al (Al and) GIS) -17
compound that is described by the e Ade
statement Jsil) ae aay A& (S ye 2Y )
First: An aliphatic compound that reacts .Sl g oSl
with phenol to give Bakelite. st s (5 same (men 1Ll
Second: An organic acid protects against  Logy ) g (e
scurvy
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18 On electroplating a copper watch by gold, 0.5

faraday is passed through an aqueous
solution of gold (I11) Chloride AuCls .
Calculate the volume of the deposited gold
layer if the gold density is 13.2 gm /cm?®
[Ag=196.98]

mAS el a) e 8
sl c Al (el e delud
e dslaae A (6131 0.5
uaal , AUCI3 <l &y jslsl
Crale 13) G al) caa dl) ana
13.2 g/cm® cadl) 43U ¢
[Ag=196.98]

19.

Choose the correct answer:

The figure that represents the relation

between (pH) , (pOH) for the same solution

-19
- dasaal) AlaY) s,
O ABNaY) Jhay (o) S La

IS:
pH pH pH
A A A
» pOH » pOH
v v v
a b

¢ Jslaall Ldll (POH) 9 (pH)
pH
A
» pPOH » pOH
v
c d
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20. Calculate the degree of concentration of Ga S S da 0 quaal 220
both silver cations and chloride anions in 9‘-"3:*‘3 w‘.‘ﬁl-beils
the saturated solution of silver chloride at il Jslaall (23 ) glsl)

Z\QJAJJQM\A:U\QN

temperature 25°C given that the solubility Jls o W 259C 5

product is Ksp=1.3 X 10 Ksp=1.3 X10° 43y
21, . . : oy S haldd e i i dle 21
Give reasons for: In spite of the reactivity of S5l S slhy 400 Y1 a0

the chromium metal, it resists the effect of air.

22. . . ASY Jo i) Aslaa cis) 222
Write down the total reaction in the car T ) 5 iy
battery (Lead-acid battery). (Araalad) (ala )
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23. First: Rearange the following steps then 40 e o) ey Nl 223
Write the chemical equations to illustrate NOW | ¢ s gall S jall jadaal
can you prepare the following compound from gl Glusgl)
normal hexane ; NO sl ]

I.  Nitration 2 sl Jalisael |
I1. Catalytic reforming methoc I Cosklas) |
[11.  Chlorination Je il Alalae i€)r Ll
Second: Write down the cl
equation of the reaction

(@) o () o Ay a3 24
3l Bt Jgal) s Sl ( 1)
(1) s 3l A (1] ) S
<l 181 b uilati: Jlo (@)
CLaal) aa LIS a9 ALY
Ao A dpalalisal)

e Choose to answer (a) or (b):

(a)Give reason for: It is easy to
oxidized iron Il salts to iron Il
salts.

(b)Give reason for: Most transition
elements and their compounds
attract to the external electric fields.
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25. In the circuit below, it is observed that

12.8 g of copper Cu*? deposited on the
electrode B and 14 g of cerium 2
deposited on the electrode B during a
certain interval of time.

Calculate the oxidation number of

dadn gall 4 <) 300l 4 225

O al o 12,8 i aa gl ¢ Jeddly
g B hdl) e Cut? puladl)
= Ce psipd) Gaplsa 14
A3ia )3 88 Hg ety D bl

a5 el 2uusl 236 Gua) A

cerium given that: [Cu = 63.5, Ce = 140] 1ok Lls
[ Cu=635, Ce=140]
o
™ { i ™ | s
A I C
—_ -

(Kp) O3 il qamaal 226
s Y el
Na@) + 202¢q) —  2NOz()
SpaS) (A I S T oy Lale
(s Al 5 GaamsY) g (g AL
B bia025192 A
. i Al

26. Calculate the equilibrium constant (kp)

of the reaction:
N2(g) + 202(g) == 2NO2()

Given that the atmospheric pressures
are two, one and 0.2 for the gases NO: ,

Oz, N2 respectively

10
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27. The figure below shows an apparatus swaal lga e AV IS ey 227

used to prepare one of the hydrocarbon AN A g S g ugd) el aa
gases that you have studied: s Lgiaal s Cuad
Water < j
sta: N7 Gas
—
| ‘ (x)
Q Solution
Calcium carbide d shae ; - water
.;}.Lu.’l&‘ J_.}J)S | (Y) h| —t—
[ ~ 5|
First: write down an equation for Anilasst) Aalmal) cuig) ¥
the preparation of that gas. )13 sl
Second: how many moles of e V¥ e e La LSl
hydrogen gas are required to Joall aadial da U a9 g
saturate one mole of the gas (X)? ¢ (X) Sl Csa 2 gl
28. Complete the next table below: s ) Jaadl Jas) 28
Monomer Polymer 2233.10ne use
e sisall el sl
Tetrafluoroethane
Ol 5518 el
Ethene
oY)

11
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29. Choose to answer (a)or (b):
Write the scientific term for one
statement:
(a) An oxide of a transition metal used
in the manufacture of dyes used in

d(R) S () os Ly pas 29
gaY ald) mihaal) cuis)
-3 it o) jlad)
o piiiony L) 31 3308 )
delia g dua) jpudl flual dslia

ceramics and glass industry.

(b) Heating iron ore strongly to
expelling humidity and increase the
percentage of iron.

. gl
dady waal) ald i (@)
g g3 o ) (0 gl

L 429 Laal)

- -

30. Choose to answer (a) or (b):

(a) Explain why a catalyst doesn't
change the position of equilibrium
in irreversible reactions.

(b) Explain why the law of mass
action is applied on weak
electrolytes only.

2(2) 9 () os Ay a5 30
S S ¥ sl Jalad) ;i ()

el A ol Y e
. AlSaiy)

(o1 AL Jub (538 iy e ()

, Ja8d ddmlal) i g gty

Choose the correct answer:

On add 50 ml of sulphuric acid ( 0.2 mol /L)
to 100 ml sodium hydroxide (0.1 mole /L)
the color of litmus indicator would be ....

5 ) Yellow
p) blue

c) purple
d red

D daaall W) s 31
il sl aea (e o 50 kA sie
(e 100 ) AYd 30 0.2 S 5

0 35 i p gad puall S gy J glaa
e Jala O sy < A1/ 32 0.1
..... add)

LBJ,)‘ [

12
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32. Write down the equation of preparing

picric acid

LSl Ghaan judan dalaa 3S) 232

33. First: mention the name of the organic
acid that is added to the frozen fruits in
order to preserve its color.

Second: write down the structural

formula of the acid.

s oanl) Jasall ac) SN Y5l -33
Al 3aanal) AgSUL Ciliay o)
" .'. wﬂ&
. paaall L) diual) au ) LG

34. Compare between :

O ) Joaadl B o8 34

Point of comparison

Reducing agent

Reduction equation

L il 4a B isall Jalall JI Ay Ualas
Blast furnace
=) ¢yl

Midrex furnace
S e 8

13
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35. The figure below shows an apparatus

A s jgal piiy 235

used to prepare one of the hydrocarbon Cra pgaia gl ald aMatiu

gases that you have studied: . G gl
+ Carbon electrodes (anode)
- Graphite (cathode)

Molten bauxite in cryodite

First: mention a substitute for
cryolite which is used in the cell of
extracting aluminum from bauxite.

Second: Write both of oxidation and
reduction reaction in this cell

Cul g S Sy S oY

PINEQE R Il ENPRE G AN |
O agaia sl) GadAti
S gal)

BasY) Je i fpa JS uiS) oLal

LA Galall O A

14
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36. Write down the cell diagram for the AL M) Jall GiS) -36
galvanic cell which is illustrated by the Aalaally Lgde mall Aol
next equation: A 48 6

9 2+ = 0
0 2 + 0 H2 @+ Cu'aq = 2H (ag+Cuy
+
H: ® * Cu (aq) - 2H (aq) + Cu (s)

37. Choose to answer (a) or (b) $(R) S (N) s Ly pas 37
Write the scientific term for one Gl bl gaay salel) mllaaal) (i)
statement: -2 o)
(a) The quantity of material (gas or solid) Aigionall i 45 gSial) Balal) Apas ()

formed or consumed at any electrode is | 4 g 4 CuilS ) g cubad (5] dic
directly proportional to the quantity of | &3 lall sl gl dsaS aa Ll Guulis

electricity that passes across the . Gl g ASY)
electrolytic solution . A8h Ao 3 a8l Led Al Balal) AL ()
(b) The mass of matter which has the L) il g 5N e gl busiS) gl
ability to lose or gain one mole of (Al Jo )

electrones during a chemical reaction.

38. How can you distinguish practically e Aslae G blee juad (s -38
between the solutions of iron 11 salt saall zela g (Fez+ )T yaal
(Fe**) andiron Ill salt (Fe**)? ¢ (Fe3+)III

39. Show by an equation how you can get | &S 4l c¥olaally iy -39

15
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iron 111 oxide from magnetite SYRTIEN | | RS R
runhliig Laa L]

40. Answer (a)or (b) (@) (1) cs Ly pas 40
Write down the chemical name of the Al o) Al Alasl) an) S
following chemical compound according 10l (S pal) a8
to the IUPAC system

(a) o
I
CHS—(|‘3H —(ltH —C—OH

................................................................... CH, CH,

(b)

................................................ CI;Hs I?r

HSC—(ll—(ID—CSH7
H H

41. Show by an equation how you can get S Aibassl) c¥alally iay 41
carbolic acid from aromatic Al g3 Sl paaa Ao J puaal) dlisey
hydrocarbon e QoS bl (e

42. Give reasons for : (b aslill L addiny ; Jle 42
Titanium dioxide is used in the synthesis G el Al Sl Sl dslia

16
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of sun protection cosmetics .

43.

Choose to answer (a) or (b) :

Show by chemical equations one of the

following:

(a) Reaction of hydrochloric acid with

sodium carbonate then passing the

produced gas in calcium hydroxide for a

short time.

(b)  Obtaining sodium aluminate
from aluminum sulphate,

(@) 3 (1) o= W) a5 43
Aaibassl) e alaally i g
e pa ) 18 9 gl (aea Joli ()
=l ) J\JA)@’J ¢ p g gaal) il gy S
8R! o gl a9 j00 J slaa (S
. Bl
il ol laa Ao Jguaal) ()
. poia oY) il S (e g3 guadll

44,

Calculate the concentration of the
hydronium ion in a 0.2 M solution of
acetic acid at temperature 25 °C , given
that the equilibrium constant of this
acid is 1.8 x10°

b psiuigd Ol S ) 44
i) (e (e J 0 0.2 Jstaa
Chlale 0 255 4 )3 die

1.8 X105 Liaaal) 138 i 530 culd

17
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45. A sample of aluminum sulphate crystals Sl S sl (e Al i 45
of mass 0.999 g is heated strongly till (Alz (SO4)3 . nH20) agsiasty)
0,513 g of the dehydrated salt remained. | A luad Ui 0,999 g WAl
Calculate the number of water moles of s ) (0 0.513 g L&s
crystallization. pla &Y ga A0S Cuua) & jagiial)

.(n) A
[H:0=18 g / mol, [H.0 =18 g / mol ,
Al; (SO4)3 =342 g / mol] Al (SO4)3 = 342 g / mol]

END OF EXAMINATION MODEL

18



